11

(%)

100.0
90.0

80.0

1. BAAER2 BRERZEX]IXBSAARZZLRN=47, T19=204, BEFE=7.1)

443

334 328

31.0 999 20 .

KEPABEZEE

WM B MR EEE KM LE R KT E MKEEMETHEREWS B EH AR K REFE M=K RSB KB E R
BB W R B B B F S AR MM B E WA EBERFNEDHREOKENENB®KBEEEMSERES DRSS
£ R R R R R R R R R RRRERERR KRR LRIERRSERRRRRERRRERRRRIRRSERMFRRRF
® R ®
© HEEMAR b E < A A R BIRWREER T, PO 20. 4, BEHEREILT. 1 T,
© WA & LT SRAEG 3R < Ao TR T,
(%)
ar
a0
23
15




¢l

0,
(%) 1. MAUEE? BEERE]ITENAREBBENAT, T1=160, HEFE=53)

100.0
90.0
80.0
70.0
60.0
50.0
400
321
30.0 2765
222 221
200 211 211 206 206 205 205 18.9 18.9 183 179 175 174 124 o tent6s
100
AP 15 Y5 5 Y 5 5 S
w & B % ¥ 5 £ 78 B F XK B B & #H HF E E £ E F & F B UM OA L E O K B KL B % F M # kR B B X = # E ® K
B B H B F B F R ¥ % BE W X KX B W & & B ) £ % &M F F )N O B\ HF B M B KRB B R & B % B B W 8 £ E # =
2 B R 2 2 2 2 2 &2 B 2 2 2 &2 2 &2 &2 B F B B B # & B 44 B B B2 B 2 B & 2 2 B g 2B B2 B B2 B & B B F #
=3 =3 =3

© HIERED R G E < T R BIRWVESER T, I 16. 0, BFHERZAIL 5.3 T,
< MR & LT BT SR K o TV ET,

FENABREZEE




5.7)

BRERE

141,

Fy

=47,

(N

2

e

1. BALEE2 &

gl

o
W, ot w ﬁ
of B m =
3 A7 e of '3
] pa
A wse e
Ok =E E
IS %
Ik
"Hew=w | |
e 1] e ok 1
<t
= {0 4 o —
+6
- 188 02 mg =
i
3 8 gf ok <
RO
5 [ e ot B A
g R «
ree | |D
2 [ e == B 0
jug
g 0 mk umwm L.\Nm
1 - <
MR o o=
W B ¥ 2R
waw | | B R
IE & m = ke
[y N
K .ﬁﬁu v
o8 4w ® K

5
i
R

b

]

f&

—'%“
& LT

A}

oA
F=I
"
<

&b

=,
b AP |

3

2

W o
REIx
o = o
g
52 07 g

7

e
H

149 149 146 145 142 141 140 136 133 133 1. 121 120
1.1

LEEN R

UK 45 mk

15

o A ok
i i ok
8 4 I
KR
oIS
o 3B ok
|8 3 m

=3

S K

3 R ok

22.1
208 201 195 190 185 182 178 174

240 238 237

HE HE K
i B o
& H o
3 b mE
o & R

._]]]M%Em

(%)

100.0
900 r
80.0
70.0
60.0
50.0
400

i
b
i

)

FLACARRE

13




	2_2_1_がん-07
	2_2_1_がん-08
	2_2_1_がん-09

